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Entries  518933

Mean x   7.778±  821.6 

Mean y  0.03149± -14.24 

RMS x     5.5±  681.7 

RMS y  0.02227±   2.76 

Integral     7683
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Integral     7590
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Mean x    6.64±  704.6 
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Integral     7627
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Mean x   6.504±  689.2 
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Integral     7647
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Mean x  0.001804± -0.012 

Mean y  0.03908± -14.29 

RMS x  0.001276± 0.1271 
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Integral     4963

0

1

2

3

4

5

6
Left_time_vs_try_e2

Entries  206338

Mean x  0.001804± -0.012 

Mean y  0.03908± -14.29 

RMS x  0.001276± 0.1271 

RMS y  0.02764±  2.753 

Integral     4963

Left_time_vs_try_e2

BB.tp.try[0]

-0.25-0.2-0.15-0.1-0.05 0 0.05 0.1 0.15 0.2 0.25

B
B

.t
p

.e
.R

T
[2

]-
D

B
B

.l1
a[

0]
*0

.5

-20

-18

-16

-14

-12

-10

-8

-6

-4

-2

0
Right_time_vs_try_e2

Entries  206338
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Mean y  0.04728±  -14.5 
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